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program disp100
implicit none
integer :: |

doi=1, 100
write(*,*) i

end do

stop

end program disp100
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program kuku
implicit none
integer ::n, m, |
—do n=1,9
-do m=1,9
write(*,*) n, '*', m, '='
read(*,*) |
if (I==n*m) then
write(*,*) 'Good!!"
else
write(*,*) 'Bad...’
end if
-end do

—end do
stop
end program kuku
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integer :: i 1 real :: i 1
i=1 2 i=1.0 1.1
do while(i<=10) 3 do while(i<=10.0) 1.2
write(*,*) i = o write(*,*) i EE
i=i+1 10 i=i+0.1 9.8
end do end do 9.9
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program disp100
implicit none
integer :: |
i=1
do while(i<=100)
write(*,*) i
i=i+1
end do
stop
end program disp100
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